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Now that you said a nursing — RSyan n92wmn 72597 DORK a5 NDWD
woman may ride, is it necessary to discuss a pregnant woman

OVERVIEW

The X723 asked, once the Xn>72 concluded that even a 7°12 may ride on the
donkey, so why was it necessary for the Xn»92 to write (previously) that a n72wn»
may ride on the donkeys; it is obvious.' Mmoo offers a different X073, but explains
our X073 as well.
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This is the reading of our text (as mentioned in the heading); however according
to the n''1 it does not appear to be correct, for, N721w1 72377 NOAR AP RNWH
X°van, is not a valid question, since the Xn>»12 teaches in a manner of this is

permitted and even this is also permitted. The rule of 7p>1n (the greater w1 7n) was stated
after n72wn (the lesser W7 M).

mdoINn has an additional difficulty with this X077
- 79PN NDY9 N NI N9 PNY NPT RN I KDY 599 59Y 2WHNN PRT TN

And furthermore, according to this 809%, this which »ax stated, ‘we derive
from here that the weight of a fish is according to its stomach’, is not properly
understood.

mooIn offers an alternate ¥07°) and interpretation:
- NOYa NP3 PN NINN HIIYN RNYH NYNY XU 17 N9 19 I

Therefore the n" prefers the 809°2 which he found, stating; ‘now that the Xn»12
stated (first) that a n931w» may ride, is it necessary to conclude that a p%»’ may
ride -
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" The questioner assumed that a nursing mother together with her baby weighs more than a pregnant woman.

? Many times when two rules are taught, the first is a smaller w170 and the second is a larger wyn. This is usually
referred to a 7 A% 7 XY (mentioned here as 1 %) ); not only is the rule applicable here (the lesser w17°n), but it
applies even here (the greater w17°11). We (generally) accept this mode. Why is the X713 challenging the &n»92? It
first stated the lesser ¥17°1 by n121wn (who is lighter) and then the greater w17°n by 7121 7p°In (who are heavier).

? The assumption of this X%3 is that a n2wn is lighter than a 7P (see footnote # 1), however ™ seems to be
saying that the weight is in the stomach (like a N72192), not like a 7p°1; indicating that a n72Wwn is heavier.

* mooin takes the opposite view of the other X073 (mentioned in footnote # 1) and maintains that a N2 is heavier
than a 7121 Ap1n. See ‘Thinking it over’.

> This concept is mentioned in X,7¢ 2w regarding carrying a live person on naw. One may not be 21, since X 77
1MEY NX. See MoOIN there “aw 7"7. Simply put a live person (712) is not deadweight!
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For a na2wn» is heavier than a s with her child, since a living person (the

live baby) carries himself and makes himself lighter
- S0 ANOYM DN NOYY D153 NIIANY 12291 AN PN XYW Yax

But when the fetus is in the mother’s womb he weighs down on her so that her

limbs are weighty, and she is also full of additional blood -
= 9PN NI 2N NN’ NI YNY 9INPT RN 929V NN XYY

And now that we say that a n72wn weighs more than a 7121 7°1%; it will be
properly understood this which *ax stated, ‘we can derive from this ruling that

the weight of a fish is according to its stomach’ -
- 7591 192 79 95 1299 XY 1Y NN NN ONVY

For if it was outside it would not weight it down so much, taking everything
into consideration. This concludes '01n77 "5 according to his X077,

N1B0IN returns to our XOA:
- 7)1 N 917 23NNIY NIN INND THY NIT 99Y 599 01PN Y91 *029901 NI AU»Y v

And one can justify the reading of our text, and nevertheless the question is
proper, for in this situation it is not applicable to answer that the Xn»92 is
teaching in a manner of 7 R Y7 -
- 9103 9INPT NN Y993 NININT 1199
Since the prior ruling of n72¥7 is included in the latter ruling of 7p>an» -
= NV YAIN 12399 VNN 2997 (3,597 91 mav) AP YWNINI YAIN 12399 %2) 190

As we find regarding the ruling of the 71wn which states, ‘one may remove four
or five boxes’; where the X713 asks, ‘if you are permitted to remove five boxes, is

it necessary to teach us that you may remove four boxes’?!
- HuN s9aNTS YN YAIN 2IUM

® We presume today that the weight which a woman gains during pregnancy is much more than the weight of the child.
A birthing mother loses more weight than the actual weight of the baby. She expels also the placenta, etc. The 'R
question therefore is understood; once the X072 mentioned first that a n712wn» (who is heavier) may ride, is it necessary
to add that a 71 (who is lighter) may ride! It is not customary to write a greater ¥17°11 before a lesser w17°11.

7 moo1n may be saying that if one removed the intestines (and the roe) of the fish; it would not weigh as much in
total; just as we find by a n721yn that once the child is born, the woman together with the baby weigh less than the
nawn. ¥,

¥ Our text reads; X°¥2n NA2WnH 72577 NINK 7711 XNwiT; indicating that we can derive the 707 of N72Wwn from P17,

° moon initial question on our X07°x was that we cannot ask, X°¥2n n72197 772277 DR 7°1 Xnwi, for one can answer
that this is the common mode of 7 AR 11 X7 (see footnote # 2). NdOIN is now saying that this answer is not applicable
here.

' We can say ¥ A% 7 X2, when the first ruling can (merely) be derived logically from the second ruling; however it
does not apply when the first ruling (by definition) is included practically in the second ruling as is the case here.

' See »"wA there (X,19p) KT 71"72 who writes; 2771 R ™2 'T 0PI *37 DWW N M19° YL 0 ORI AYAN P NN
X210 17K 7" awan.
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And %Xnw answered, ‘four and five, that is how people speak’-
- 9117 9T AN T MMNIVY TIY RY SWPN Y9N Y971 INY ON YaN

But if it weren’t for the >wisR sa»R %7, it would not be applicable to answer

that this is a case of »1np 17 NI T -
- PONY NIX NN Y93 ¥aINT 119

Since four is included in five, except that five adds something -
- Zoran 2w 00 NP0 5993 THN 91 XYY 92991 593 X9

So here too a na2w», who is one body, is included in a 7ps1», which are two
bodies.

Moo resolves the second question on our X0
= 9PN N9 2N RN’ NI YNY IR

And M2X stated, ‘we can derive from this that the weight of a fish is according

to its stomach’ -
- 197 192) 10 P2 ¥AYNI YW 33 AT Y993) MI0D 193 1YY P2 XYW NP1 Hwrese

The explanation of this 2" is that since it teaches in the 823 when he hired it for
a woman then she may ride whether she is an adult or a minor; so included (in

7101 717173) is the understanding that whether she is thick or thin she may ride -
= 110 919293977 H92I919 1D29N) 2N1IY TIIVYIN INNDI

So why as it necessary to teach, even a n131y», since that is the same as ;705 -
- 5RY1 N 9% INY 923Y 9ANT INNPY ITION NI TN 9T

For a n72wn is one body, even according to the one who maintains, ‘a fetus is

not part of the mother’s thigh’, nevertheless -
- AN 9N 0D DX2IYN 11N XYN DTN 23 PYY Payy

Regarding the language of people in business dealings, a pregnant woman and her

fetus are considered as one body, so why mention n72wn if it already stated 77173 (or 7703) -
$79291 92591 29 NNKY HNNN NOM 9N N2 N2Y NINN NDIT NI YIY INTI NIN

2 Just as four is included in five (so we cannot say I A% W X?), similarly a N2, one body (including a fetus), is
included in a 1p°1n, two bodies, and we cannot answer 17 & 17 X?. M0 is (seemingly) not necessarily saying (even
according to our X07°), who is heavier a 7ip°1 or a nN12wn; perhaps a 71 is heavier (see ‘Thinking it over’).
Certainly a 7321 7p°1» at some later stage in nursing is heavier than when she was a n121w» at an earlier stage in her
pregnancy. The reason why it is X°w3 is because by 1p°12 it is two bodies and N7 is only body. If the donkey can
carry two it can certainly carry one! [It may be more difficult to balance on a donkey two bodies of unequal weight,
than one body.]

" See footnote # 3.

'* The word ws is often used to indicate that the interpretation is not what we expected. According to '01071 No3,
the n"w of ™K was from the s'X3 question *¥a» 711 121 N2 Wwn XNwn (indicating that a N721w» is heavier than a
7p°am). However according to our X077 the n"w is from elsewhere as '01n continues to explain.

"> This is a dispute mentioned various times in 0"w, whether the fetus is considered part of the mother or is
considered a separate entity. See X,m1 7?1 regarding a 7190 721 if he can be brought as a w"»v ,127p.
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Rather this certainly proves that obesity as a result of pregnancy is heavier
than obesity on its own (without pregnancy)'® for the fetus weighs down the
mother. The same is by the fish!"’

SUMMARY

According to '01n a n72wn weighs more than a 73121 72°11, and the »n"w is from
mentioning both N721wm AP, According to our X073, the »"w is from mentioning
both 7703 and n72wn.

THINKING IT OVER

It would seem that the question as to who is heavier, a N721W» or a 7121 AP"IA,
depends how old the baby is and how far the woman is in her pregnancy. A woman
nurses a child for two years. At the end of that period the child weighs
considerably more than when he was an infant (and certainly the 77121 7p°11 at that
stage weigh more than a N92w» in her initial stage)!'®

' This explanation of the 2" can perhaps be ‘squeezed into’ »"w 71"7 *"w1d, who writes, ¥wnT NN 12°0K *INPTA
mIp*a7 12 A7°23 nhwnnw. The n23p™ can perhaps refer to the 703, When "W writes n721w» 12°9X *1npTn, he means
that he mentions N12wn after 703 (not that he mentions N12W» and 7p°In).

' 1t would seem then that the »"w of »aX is regarding a pregnant fish (that its eggs [roe] are 7°22)?! [Perhaps noon
means that added weight in the inner organs (stomach, etc.) weighs down more, than fat in the external organs,
A"vR.]

'8 Current statistics indicate that an average two year old weighs about 27 pounds. An average woman gains about
30 pounds during her pregnancy. Perhaps it is not a question of weight on a scale, but rather the difficulty in
transporting them. See footnote 12 [in the brackets].
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